PHYSICAL REVIEW D

VOLUME 24, NUMBER 5

Necessity of many-particle forces in relativistic Newtonian mechanics
for massive and massless particles

Thomas F. Jordan
Department of Physics, University of Minnesota at Duluth, Duluth, Minnesota 55812
(Received 9 March 1981)

The Lorentz-invariance conditions for Newtonian equations of motion for three particles are assumed to be
satisfied by sums of two-particle forces that satisfy the Lorentz-invariance conditions for two particles. Then it is
shown that a particle can be accelerated only by forces from particles that do not accelerate, provided every particle
has positive mass. There are exceptional cases when one or more of the particles has zero mass. Relativistic
Newtonian mechanics for zero-mass particles is formulated two different ways. When the equations of motion
specify the accelerations as functions of the positions and velocities, the result is the same as for positive-mass
particles. When the time derivatives of the momenta are specified as functions of the positions and momenta, the
result is that a particle can be accelerated only by forces from particles that do not accelerate continuously.
However, there are forces that change the magnitude of the momentum without changing the velocity, for a particle
with zero mass. They produce discontinuous acceleration when the velocity abruptly changes direction as the
momentum reaches zero and changes sign. For a particle accelerated by a force from a massless particle that
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accelerates in this discontinuous way, there are two-particle forces with acceleration of both particles.

INTRODUCTION

The conditions for Newtonian equations of motion
to be Lorentz invariant are nonlinear equations for
the functions that give the accelerations in terms
of the positions and velocities at one time.'*® As
soon as these conditions were formulated,*+? it
was realized that they require many-particle
forces for systems of more than two particles be-
cause the nonlinearity makes it impossible to
use sums of two-particle forces.? However, a
proof was not published.

Here we state this property precisely and give
a proof. The point is to see if there are any ex-
ceptions, any two-particle forces that escape this
implication of the nonlinearity, so that forces in
systems of more than two particles can be sums
of these two-particlé forces. The obvious trivial
exception is when a particle is accelerated by
forces from particles that do not accelerate; then
there are no nonlinear terms. Even exceptions of
only a technical nature, which are not particularly
meaningful physically, might be interesting be-
cause they would indicate what could and could not
be proved in more sophisticated formulations. In
Hamiltonian mechanics with constraints it was
shown recently that for a system of more than
two particles there are no forces that are sums
of two-particle forces, and techniques were de-
veloped to calculate the many-particle forces.*5

We consider two-particle forces, which satisfy
the Lorentz-invariance conditions for systems of
two particles, and we assume that sums of these
two-particle forces satisfy the Lorentz-invariance
conditions for systems of three particles. We show
that then a particle can be accelerated only by
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forces from particles that do not accelerate, pro-
vided every particle has positive mass. There are
exceptional cases when one or more of the parti-
cles has zero mass.

For particles with zero mass we formulate rela-
tivistic Newtonian mechanics two different ways.
One way is to let the equations of motion specify
the accelerations as functions of the positions
and velocities. Then the result is the same as for
particles with positive mass. The other way is to
let the equations of motion specify the time deriva-
tives of the momenta as functions of the positions
and momenta. Then the result is that a particle
can be accelerated only by forces from particles
that do not accelerate continuously. However, the
forces that cause no acceleration are not necessar-
ily zero. They can change the magnitude of the
momentum without changing the velocity, for a
particle with zero mass, because the velocity is
a vector of fixed length ¢, in the direction of the
momentum, and the magnitude of the momentum
is an additional variable independent of the velo-
city. If the momentum reaches zero and changes
sign, the velocity abruptly reverses direction, so
there is discontinuous acceleration. Thus, when
a particle is accelerated by a force from a mass-
less particle that accelerates in this discontinuous
way, we find our assumptions allow two-particle
forces with acceleration of both particles. These
discontinuous accelerations can produce bound
states of two massless particles.

MASSIVE PARTICLES

Consider a classical-mechanical system of N
particles described by positions X", velocities
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¥"=gxX"/dt, and Newtonian equations of motion that
give the accelerations as functions of the positions
and velocities at one time,

av/at =z, %2,

for n=1,2,...,N. We make these equations in-
variant for time translations by not letting f” de-

-y = -
LN YLV LY, (1)

N

m=1

-~

for j,k=1,2,3 and n=1,2,...
such that ¢ =1.

Suppose the force on each particle is a sum of
Poincaré-covariant two-particle forces, so that

,N. We use units

'f =2 I"T(X"— XT V" VT) (3)

r*n

where I and fr" are rotational-vector functions
that satisfy the Lorentz-invariance conditions (2)
for a system of two particles. We shall show that
the Lorentz-invariance conditions (2) for three-
partlcle systems imply that for each » and 7»
either f*7 or {7 is zero; accelerations are caused
only by forces from particles that do not acceler-
ate.

By comparing the Lorentz-invariance conditions
for two-particle and three-particle systems we
find that

3
Zf”,af"/av',w (4)

for r#n, s#v, and s#¥n. The only common vari-
able on which both f7¢, and ofnr/ 9", depend is V7,
so the only direction that can be a property of both
these factors is the direction of V7. For the dot
product (4) to be zero, the only possibilities are
that one factor is zero or that one factor is col-
linear with V” and the other factor is perpendicular
to V. Thus we see that either ' is zero, or

Efrs r =0 (5)

=1

or

frst oc ,UrZ , (6)
or
oi"/8p7,=0 (7

for 7=1,2,3 in (6) and (7), with the proportionality
gactor in (6) independent of . If {¢ is zero, then
f" must be zero to allow. for three-particle sys-

pend exphc1tly on time, for space translations by
letting i depend on the pos1t1ons only through the
relative positions X"— X", and for rotations by
letting " be a vector function (that rotates as a
vector when %, ..., X", ¥, ...,V" rotate). The
Currie-Hill conditions for the equations of motion
to be Lorentz invariant®:? are

N 3 N
EZ (x"}z“xmk)(fmlaf"j/avm,+Um;af"j/axm;) - Z Z Umhvm;af"j/avm;+ Zl afnl/avmh_'_ 2U”kf"j+v"jf"k =0
m=

=1 m=1 =

(2)

I
tems in which particles » and s cause identical

forces. Altogether this means fr is zero. We shall
show that either (5) or (6) implies {7$ is zero.
Therefore, fr is zero in every case except the one
described by (7). We shall show that (7) implies
fr7 is zero. Thus in every case either frr or fr is
zero.
From (5) we get

—f 7%+ (V)?75,=0 (8)
by changing » to » in the Lorentz-invariance con-
ditions for two particles, multiplying b‘y vy, and
summing over j=1,2,3. This implies ¢ is zero,
if we assume the particle speeds |V"| are less

than ¢, which is 1 in the units we are using.
From (6), writing

-f." = ar.s;r.’ (9)
and letting €” be a vector perpendicular to v* (for
example V" X V5), we get

a,e"r=0 (10)
by changing » to 7 in the Lorentz-invariance con-
ditions for two particles, multiplying by e”,, and
summing over j=1,2,3. This implies "¢ is zero.

From (7) we see that
afnr /ox™,=0 (11)

for 1=1,2,3 because in the Lorentz-invariance
conditions for two particles V" occurs only in

3
; v”,af"",/ax’, .

This means "7 is a function of only ¥". Then, to
be a rotatlonal vector, f"' must be proportional

to V", so f"r satisfies (6) with s changed to nv,
wh1ch implies fm is zero, as we have already seen.

MASSLESS PARTICLES DESCRIBED BY VELOCITIES

Almost everything done in the last section holds
equally well if one or more of the particles has

.zero mass and speed ¢c. We still may consider



Newtonian equations of motion of the form (1).
If particle » has speed ¢, the variables V" are
restricted to

(¥)2=1 (12)

(since ¢ is 1 in the units we are using), and the
function f" must satisfy

vrefr=0 (13)

to keep (12) from changing in time. The Lorentz-
invariance conditions (2) are the same, because
the restrictions (12) and (13) are consistent with
Lorentz invariance.

Almost all the results of the last section are
still valid because they are consequences of the
Lorentz-invariance conditions (2). The only ex-
ception is that when (V7)? is 1 we learn nothing
from Eq. (8), so we no longer have a proof that
(5) implies frs is zero. However, to make the dot
product (4) zero we need not only (5) but also

ofir/8u7 e w7, (14)
for 1=1,2,3 with a proportionality factor indepen-

dendent of /. For the case we need to consider
we also have

(¥2=1, (15)
v-f=0. (16)

We shall show that all this 1mp11es f"' is zero.
Thus it is still true that either f"' or {” is zero in
every case.

After using (14)-(16) we have

3 3
(xnk - xrk) ; ,U'rlafnrj/axrl - vnk ; vnlafnrj/avnl

+3fnrj/3vnk+2,unkfnrj+Unjfnrk=0 (17)

remaining as the Lorentz-invariance condition
(2) for £"" in the system of two particles » and 7.
Differentiating this with respect to v7; and using
(14) we see that

afnrj/axriocvri , ) (18)

for ¢=1,2,3 with a proportionality factor indepen-
dent of 7. Then, differentiating (17) with respect
to x7;, multiplying by the {th component of a vector
perpendicular to ¥/, and summing over i =1,2, 3,

1

m=1 1=1

for j,2=1,2,3 and n=1,2,...,N. If the mass of
every particle is positive, this description in
terms of momenta is completely equivalent to the
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we see that
3
2 /o7, =0. (19

Therefore, 8f"",/8x", is zero for 1=1,2,3. Then
frrisa functmn of only V" and V7, wh1ch means it
is of the form

7 = AT+ BYT + CY X VT (20)

where, to make £" a rotational vector, A, B,C
are functions of only (¥")2 and V" - ¥", since (v7)2
is 1. The parity-conserving part involving A, B
and the parity-violating part involving C must sa-
tisfy (17) separately. From the A, B part in (17)
we get a term 5,4 and terms proportional to

V" 0%, V"W V,;0%, and v”p",. Each of these
must be zero. Therefore, A is zero. The re-
maining terms are Bv"p", and terms proportional
to v"»"% and v”»",. Therefore, B is zero. From
the C part of (20) in (17) we get a term

3
.
c Z €5V
=1

and terms proportional to (V" x V") p",, (V*x V") p",,
and v"(v"x v*),. Each of these must be Zero.
Therefore, C is zero. Thus altogether " is zero.

MASSLESS PARTICLES DESCRIBED BY MOMENTA

We may also use relativistic momenta 17, for
the particles n=1,2,...,N, so that the velocities
are

"7n = [(‘ﬁn)z + Wl,,z]'llzﬁ" ,

where m, is the mass of particle n, and (u",, 0"
transforms as a four-vector with

uy= [(En)2+m"2]1/2 .
Then we use equations of motion
duv/dat =Fn(x*, %, . YL, L., UYN . (2D

As before, we make these equations invariant for
time translations by not letting Fr depend explicit-
ly on time, for space translations by letting F" de-
pend on the positions only through the relative
positions X"~ X" and for rotations by letting F"

be a vector functlon (that rotates as a vector when
X, ...,%¥ ®,...,0% rotate). The conditions for
Lorentz mvamance are now

N
ZZ(x Y — X k)%F’" 8F",/bu™, +[([@m)2+m 2T 1/21,¢"",8F"J/Bx"'lt+Z [(@™)2+m 2} 20F",/u™,
w1
+[(A"2 +m 212U Fy =8, [(A"2 +om 2207 - F7) =0 (22)

f

previous description in terms of velocities. How-
ever, we are interested in the case where the mass
of one or more of the particles is zero. Then the
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two descriptions are not equivalent. For a particle
with zero mass, the velocity is just the unit
vector in the direction of the momentum, and the
magnitude of the momentum is an additional var-
iable independent of the velocity. Since the Fn
are functions of more variables than the I are, we
can expect to find more solutions of the Lorentz—
invariance conditions for the ¥ than for the .
On the other hand, the Lorentz-invariance condi-
tions (22) for the F" are derived from the assump-
tion that the momenta transform as four-vectors,
and that is not implied by transformations of velo-
cities.

Suppose, as before, the force on each particle
is a sum of Poincaré-covariant two-particle
forces, so that

N
n:Z F"T(E"—}?r,-ﬁ", ﬁr) , (23)

r#n

where ¥ and ¥ are rotational-vector functions
that satisfy the Lorentz-invariance conditions (22)
for a system of two particles. We shall show that
the Lorentz-invariance conditions (22) for three-
particle systems imply that for each » and » either
Frr causes no acceleration of particle n or Fr
causes no continuous acceleration of particle 7.
As before, accelerations are caused only by forces
from particles that do not accelerate continuously.
However, the forces that cause no acceleration
are not necessarily zero. We find some that change
the magnitude of the momentum without changing
the velocity, for a particle with zero mass. In one
case this produces a discontinuous acceleration
when the velocity abruptly reverses direction as
the momentum reaches zero and changes sign.
Then there is acceleration of both particles.

By comparing the Lorentz-invariance conditions
for two-particle and three-particle systems as
before, we find that

3
2 Fe 0 /our, =0 (24)

I=1

for »#n, s#7, and s#n. By the same reasoning
we used to get from Eq. (4) to Egs. (5)—=(7), we
deduce that either ¥7¢ is zero, or

3
XZ Freur,=0, (25)
=1
or
Frs ey, (26)
or
aF""/our, =0 (27)

for 1=1,2,3 in (26) and (27), with the proportion-
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ality factor in (26) independent of . We shall show
that (25) implies Frs is zero and (26)_implies
either ¥7s is zero or m, is zero and F7¢ causes no
continuous acceleratlon of particle ». By consider-
ing three-particle systems in which particles »n
and s cause identical forces, we conclude that if
Frs is zero, or if Frs causes no continuous accel-
eration of particle 7, then Frn causes no continu-
ous acceleration of particle ». Altogether this
means F” causes no continuous acceleration of
particle ». We shall show that (27) implies Frrois
zero or m, is zero and Fnr causes no acceleratlon
of partxcle n. Thus in every case either F"* causes
no acceleration of particle » or Fr causes no
continuous acceleration of partlcle 7. However,
in some cases both F"” and ¥~ are nonzero, and
in one case both cause acceleration, when particle
7 has zero mass and a change in the sign of its
momentum causes a discontinuous acceleration as
the velocity abruptly reverses direction.

From (25) we get

3
[(a’)2+m72]”2;u'jaF’sj/aurk=0 (28)

by changing # to » in the Lorentz-invariance con-
ditions for two particles, multiplying by »";, and
summing over j=1,2,3. Then

3
Fre,=9 _Zl:uijfS,/aurﬁo (29)
Fad
for £=1,2,3.
From (27) we see that
oF""/ox™, =0 (30)

for 1=1,2,3 because in the Lorentz-invariance
conditions for two particles Ur occurs only in
3
(@)% +9m 2272 § u” OF™ /0x",
This means F"” is a function of only ”. To be a
vector for rotations, it must be of the form

Frr=4 3", (31)

where A,, is a function of (U")?2. Substituting this
in the Lorentz-invariance conditions, we find
they imply that either A,, is zero or m, is zero
and An,lﬁ"| is a constant. The latter means
du"/dt is constant, either plus or minus, in the direc-
tion of G". Then the magnitude of the momentum
changes at a constant rate, but there is no change
in the velocity, not even a reversal of direction,
because the momentum cannot change direction or
even change sign. Thus either F™ is zero or m,
is zero and F™ causes no acceleration of partlcle
n.

From (26), writing

Frs=A,0", (32)
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and letting & be a vector perpendicular to ur (for
example 17 x 0°), we get

A, gm B[O +m 2T e, =0 (33)

by changing » to » in the Lorentz-invariance con-
ditions for two particles, multiplying by e”,, g_nd
summing over j=1,2,3. This implies either F7$
is zero or m, if zero. If m _is zero, it is clear
from (26) that F7s causes no continuous accelera-
tion of particle 7.

Together with (26) we need

3
2w pF/ o =0 (34)
=1

to make the dot product (24) zero. As an example,
suppose both Frr and Fre satisfy both conditions
(26) and (34), so one formula can be used for all
the two-particle forces in systems of two or more

massless particles. This means Frr satisfies

(34) and is of the form (31) to satisfy (26) with

rs changed to nv. Let us assume the equations of
motion (21) are invariant for space reflection as
well as rotation. Then A4,, in (31) is a function of
Fn—F)2, (Fr-Fn) - T, (Fr-F0) -, (@72, (§)2, and
4"+ . The solution of (34) and the Lorentz-invar-
iance conditions is that A, |"| is a function of the
two variables

(in_ir) 'ﬁr/(|'ﬁn“'ﬁr] _'ﬁn.ﬁr), (35)

- = %[(§n_§r) . ﬁn][(§n_ §r) . 'ﬁr]
(&= ) S ey . (36)

This force can change the sign of the momentum,
so there is discontinuous acceleration when the
velocity abruptly reverses direction. In fact this
can produce bound states of two massless parti-
cles. :
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